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Main reason for deforestation is
A. Ozone layer depletion
C. Global warming
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It is not a part of environment

A. atmosphere

C. industrialization

walaRel ol ues otell
A gldlarel

C. Qabis:wel
It is part of Atmosphere

A. Hydrosphere
C. Lithosphere
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This is not a green house gas
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Percentage of nitrogen gas in atmosphere is

Increase in population
CFC gas
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A. 78.04 % B. 0.93%

C. 20.94% D. 0.03%

Al ALARQUHL aU82\osat el oll YHIRL &.

A. 78.04 % B. 0.93%

C. 20.94% D. 0.03%

Unit for measuring sound pollution is

A. meter B. neuton

C. Echo D. decibel
dlelle of YEMRL Hiuclloll AsH B

A fleR B wjeq

C. g8 D. 3ot
Following are types of radioactive rays

A. X rays B. Betarays

C. Gamarays D. All of above
(32000l Uslk ®

A (3200 B. oflel 3R
C. o (3Ral D, GuRetl it
Main constituent of Biotic component is

A. Carbon B. Hydrogen
C. Oxygen D. Chlorine
w2085 desoll sitlRRHL Wl Hscclo] 53 dect B

A glolet B.  slgqloat

C. Alsloset D sARat
This is not a natural resource

A. Water B. Electricity
C. Air D. Solar Energy
AL ULs(As Aulq otell

A B cflagell

C. yas D yalalsal
This is Non renewable source of energy

A. Wind B. Water

C. Solar energy D. Crude Oil
AL Yol: UYL Yis(ds Aufd 8

A yad B wull

C. ydala Dyl At
This is not a reason for deforestation

A. Industrialization B. Urbanization

C. Oxygen D.

Population Increase
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Idea behind afforestation is

A. Increase beauty B. Balance Ecosystem

C. Increase Income D. Time pass

cdollsR0L Mi2e] BE U D

A ddag@ B. [Qartstdat snagll

C. uasg@ D yua @Qataa

According to Law of conservation of energy

A. Energy cannot be vanished B. Energy cannot be produced
C. Energy can be transformed D. All of above

Aot AU [(AAM Yoot

A Aol ol sttal el otell B. Qoo ol Geuteot al otell
C. Qotofl oll 3UIAR WA D D. GuRell MM

The process of purifying and using pollutant again is known as

A. Recycle B. Reproduce

C. Reuse D. Refit

YEMSe] dotl GaUlEel RUAN % 9(A50 sél LA HIEA 313 Gullol WA
A y(5a Guaal Yol: GeUlEol

C. yot: GualolL D. d4le

By using conventional sources of energy

A. There will No pollution B. Pollution can be reduced
C. There will be pollution D. All of above

URURLOLA Bosl At clturenell

A ygeneHl ad ol B, ygnamil valsl ax

C ygvoLaa® D. GuR ol MM

Objectives of sustainable development is

A. Advantageous to all B. Reduce Pollution

C. Increase in Forest D. All of above

251G [Astuell &9
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Which type of energy resources must be used extensively for sustainable development?
A. Nuclear energy B. Renewable energy

C. Conventional energy D. Natural gas
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Tropical rain forest is an example of

A. Renewable energy source B.

C. Conventional energy source D.

2lsA cRULEL 2ol Aol GELSRML B.

Yiglds A

Abiotic natural resources

Biotic natural resources

A Yoty Gt B ulds auret A{lu
C. wRurloLd G D offads Auret Al
During night the direction of wind is from

A. Sea to hills B. Landto sea

C. Seato land D. A and C both

AA 1210t uctatoll (2ol - A ®

A g wRl udd R B. onflot uell uys R
C. s urel oot R s D Auac

Wind velocity in India is mostly

A.  25-40 km/hr B. 50-60 km/hr

C. 40-50 km/hr D. 5-20 km/hr

ARAHL W12 ettdl Uctato{l alld

A 25 ofl 40 (5. l/scus B. 50 el 60 (5.:{l/s5cus

C. g0 el 50 (5.:l/scus D. 5efl20 3. Ml/scus

The lowest wind speed at which wind turbine can produce power is called
A. Cut off wind speed B. Cut with wind speed

C. Cutin wind speed D. Cut out wind speed
Uclotofl B9 Hi | s U Battell [els eaiieset UulaR Geus 531 .
A g2 ulls (ds adls B. g2 cfla(ds adls

C. 52 et [ds s D. g2 auBe [ds adls

The rate of movement of air from one place to other in certain direction is called
A. Wind volume B. Wind velocity

C. Wind power D. Cyclone

sclloll oseedloll Ws oA ol U1 Ass (& 2AHL scllofl 35U
A (ds deyH sdala B.  (ds acAlldl séaua

C. (ds war sdaa D quaiys ssaa

Wind energy is

A. Not dangerous B. Available day and night
C. Not polluting atmosphere D. All of above

Yclol Gt
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Propeller wind turbine is
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A. Horizontal axis type B. Angled axis type

C. Vertical axis type D. None of above

YAAR 28U (ds euleet sl yusie(l &

A QRS Aellat B. vigllar el

C. adlsa wella D Gurey B2 otel
Rotor of big wind turbine rotates by

A. Drag and lift force B. Reactive force

C. Drag force D. Lift force

HeL (s eollgat A2 saul ol 52 &

A 3oL ua dlge tlan B. {sdla e

C. 3oran D dlse alnn

In this type of wind mill there is no need to arrange rotor according to wind direction
A. Panmones B. Generator

C. Nacelle D. Horizontal wind turbine
WML Uctotofl (22l HIA! 2R dlsclalloll %32 otell

A Qoo B. oo

C. aa D, all3ect [ds eoliget
The axis of savonious wind mill is

A. Angled B. Horizontal

C. With nacelle D. Vertical

Acdlollat UsiRell (Qos Aetui A2 uil 3l sla .

A yella Rellu B.  adlSect Aellu

C. aaaud D. adlsc Aella

The ideal site for wind mill

A. Low Wind B. Cyclone prone area

C. Near consuming area D. Deep forest

Uctol AsS| HZotl 002 UA

A g Uddt 8lg K8 B Alstell e 8lg s
C. aurlel «1%s &0 8lg AlsA D. ofoid [Qrell? 8lg e
Use of wind vane is to measure

A. Wind power B. Wind direction

C. Wind velocity D. Wind temperature

(Aos st of BUNDL g

A ydete{l as(@ Hiuat B, yctotofl (22U ostiatant

C. udetell aUfA Hiua D. yctotofl GraU Mot HIUCL

Blades of horizontal axis wind turbine have?
A. Aero dynamic design B. Aerometer design

C. Aero central design D. Aero space design
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Which type of generator is used in wind turbine plant to generate power for grid?
A. Asynchronous generator B. A.C. generator with battery
C. D.C. generator D. Synchronous induction generator
Afls i UlelR Al 5l (AseriatHi sl YslRa] ¥t duA B.
A ARAB\A eiReR B. ARl weReR fla dedl
C LAl wet2e? D. lslet2l S5520t %elR2R
The method of automatically rotating wind mill rotor in direction of wind is
A. Yo control B. Generator control

C. Emergency trip D. Pitch control

(cls At AR A WANELs Ucotoll (22U AA JRetclloll ol - sdau
A2l sl B.  oe3er $2lc

C. gl dlu D. R sae

The heat generated by son is coming in this format on earth

A. Transformation B. Absorption

C. Radiation D. Transmission

YA a2t Geurt ol L ez W yecll uR 2ua B,

A yladet B. alwg

C. (aBza D slallast

Velocity of sun rays is

A. 3X10° m/sec B. 3X10° km/sec

C. 3X10° cm/sec D. 3X10’ mile/sec

Yl (5200{l a1(Q

A 3x10° {LABS B B. 3x10° (5.:{L/AZs ®

C. 3x10° AHLAZS B D 3x10° wsadAds ®

The solar energy received in atmosphere in unit time per unit area is called
A. Solar cell B. Solar Constant

C. Solar Energy D. Solar rule

clcdletRRlell GURe{l UUElRA A sH UHAHL AsH (AR €ls Hadl AR Goslal
A QAR A sdal B. AR wuals sda

C. Aaur G sdaa D AR Qan sgaa

The group of solar rays is called

A. Solar spectrum B. Solar constant

C. Solar cell D. Solar system

YA(3Q0A AYeA g sdcuL.

A QAR s B, Qer avunis
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This is not type of solar radiation

A. Beam B. Diffuse

C. total D. adsorb

UL AEAR Aot YsiR ol

Aol R81Aatet B Slsejer 261010

C. e 2lAatet D. @ 21221t

Diffuse and total radiation can be measured with

A. Sunshine recorder B. Photovoltaic cell

C. Solar cell D. pyranometer

UL ALYt S Slgger wal 2l 1At HIl st

A Yol WS 8182 B.  gadcdls Ac

C AdR Ao D yaRale:

Photovoltaic cell converts

A. Solar energy to electric energy B. Electric energy to mechanical en.
C. Electric energy to solar energy D. Mechanical en. To electrical energy

gl2lACEls A - UlcdR 53 B.
A yaialsa of [Qydaia di B. (Aydalsal of ai@sulsa Hi
C. (aydala o yaialba 1 D. iAsalse of [Qydausa Hi

Solar cell is made of

A. conductor B. Semi Transistor
C. Transistor D. Semi Conductor
AARAA Ao Had 8l B

A §s823 B. il 2ioflre?
C. 2ioflze? D. l $s822
Free electrons are generated by falling sun rays on

A. P object B. A object

C. N object D. P-N object

sl el UR YA (501 uscuedl 5l 8As2lot Geurt L 8.
A PYsR B AysR

C NuysRk D p.NusR
Most of solar cell are made from

A. Tin B. Silicon

C. Lithium D. Copper

Hl2l GLoLotl AARAC Blotl Hald SlA &

A dlet B.  R@s.t

C. QRax D. Quz

Silicon material
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A. Withstand high temperature B. Having high boiling point

C. IsHard D. All of above

R@Ast ueLdd

A GRAU dluMLet U8l 23 ® B, algl@ol Wdse By 8.
Co yol uumcdl ® D. GUR el MM

Which reaction is taking place in plants in presence of sunlight and chlorophyll
A. Light absorption B. Light production

C. Photosynthesis D. Light vanish
Yaiustalell wa sAAAS Al slo3Hl clotruldul 58 yslau e d.
A yslat gl B, ysiat Gaulget

C. ysladsanul D. ysla 19t

The process in absence of light is called

A. Dark process B. Green process

C. Light process D. Inner process

% ysglau 12 ystatell %32 o1l dal

A ydlslau sdala B. & ydlglan sdaua
C. ystaydlslaw sdaa D iR udlslau sdaua
The factor not affecting photo synthesis is

A. Light B. Oxygen

C. Water D. Nitrogen

Y512l ABAMRL HUR o 5l URBal B

A yslal B. asfloget

Cwall D. oygdloget

In this process dry biomass is used.

A. Pyrolisis B. Hydro generation

C. Hydro gasification D. All ofabove

UL YlBaHL Y51 cllDHR duRlA D

A Rl B, s13l%el9tet

C. sssl A{lg13 9Lt D. GuRell it

By Pyrolisis process we get fuels in form of

A. Solid B. Gas

C. Liquid D. All of above
WA ulBall §lRL - 23U HI AR Yl Al .

A ot B. 3

C. yagl D GuRell

The absorber plate of solar heater is made of

A. Plastic B. Glass

C. Iron D. Wood
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C. Aigel D cussisll

What is generally used to produce ethanol?

A. Ethesis B. Molasses

C. Methanol D. Waste

UM A BAAA Glotlalell MR - AWURAUHT AA B,

A sl B, Qarlla

C. RAA« D 53l

Which gas is generated in 4™ stage of anaerobic digestion

A. Oxygen B. Carbon

C. Methane D. Ethane

AAAGs SlARUet oll WAL AGLSSIHL $8 AU 0lal B,

A slegat B. sidlet

C. Mad D. gaq

The smaller shocks coming before main earthquake are called

A. After shocks B. Fore shocks

C. South shocks D. North shocks
RIS Uotl Hual WiASL USEL el ollotl BiUSIA 9 sdcll2L.
A AgeR Aiusl B, yd uiust

C. glaloLaiust D. G2 wiust

The instrument recording movement during earthquake is called
A. Seismology B. Seismotech

C. Seismograph D. Seismogram
RS Uoll sctot At 2BLE 5l Aol sdUA D

A R B Raks

C. R=ous D, Rw=oun

The energy released during earthquake is known as

A. Richter Scale B. Magnitude

C. Frequency D. Seismogram
tRcl5U gR12ulot 8921 USEL Aotof] ol o2euloll Hiua

A {2 B sdald B wdl§uq] yeau sdaa
C. glsdrll sdaua D Rl uell dlact sdau
The instrument showing the duration for which sun rays was available is
A. Sun shine recorder B. Heliometer

C. Pyranometer D. Solar meter

Yallog dsgy Fecl AHaA Yl sl A Ll HIZef Ul

A Yol Aol 2818 B. 3cflaale?
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The phenomena of burning of paper using Lens under sun rays is
A. thermocouple B. Photovoltaic effect
C. Solar concentrator D. Solar heating

A glRL Yot BREN AsA 531 s1o100 sllocllal 9 sda.
A allsuat B. gaacls skse
C Aar sliger D QAR 8l

The earthquake occurring near Tectonic plate boundary is

A. Seismology B. Tsunami

C. Interplate Earthquake D. Intraplate Earthquake
2selolls WA2ell Bl ADLN UstIR GYSUA - 58 B.

A RAAY B yeall

C. éende osu D. gz gsu
The main constituent of Biogas from following is

A. Methane B. Helium

C. Nitrogen D. Carbon Mono oxide
GULRANRAL Gl UlRRIHE o{lAM A Yyt A s20

A At B dlcllan

C. aggoflet D glolot Wolls2ugs
The study of earthquake and related effects is called

A. Seismology B. Geology

C. Biology D. Bukampology
U Al Aal AdLAl clletAlail AeULRaA

A AUNA sdalA B.  oadlclly séaua
C. oaQdy sdaua D. gsucley ssaua
The point below earth from where earthquake originates is

A. Epicentre B. Focus

C. Centre D. Centre point
URcdlSUstl GE alale] wHlol ol Aoy 28Ut B

A afldeR B. Qsu

C. 34 Do e (g

The amount of ground shaking at particular time during earthquake is
A. Magnitude B. Richter Scale

C. Intensity D. Frequency
URAlSU ara 518 AssU RAUA Hotoll WRWR Yost 3l il Hiua
A wRdl§ud] el sdau B.  Jsez ¥ct sda
Curdlduell lac sdara D glsdl séaual
The chemical process in presence of microorganisms is
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A. Physical process B. Biochemical process

C. Chemical process D. Biological process
Y el Heedl adl AM2AQS Yslale] oltr 9 B.
A allds B oua3lset

C. ¥llsa D aaldlsa
The slurry produced in Biogas plant is coming out from

A. Outlet tank B. Gas pipe

C. Digester D. Drum

LA welloe Hill Geust Al A3l saiell welR wa .

A st 591 B. Sl wsu

C. sla®ger D. oy

Is used to measure Earthquake

A. Pyranometer B. Vernier scale

C. Micrometer D. Richter scale
RIS U] YA HIUCl HIS L AURNU D

A yraadle? B, aofla 3t

C yesidle? D. dlse: 3

The time to complete one cycle of earthquake wave is

A. Period B. Cycle

C. Frequency D. Round

RIS Uotl 1ot gl SUollof As ULRASE Y3 Scl HIS ARLAL AHAURA
A [Qdlas sdarat. B wasd sdaual.
C. (3scll sdaua, D. ussdcua,

The outer most part of earth sphere is

A. Outer Core B. Mantle

C. Inner Core D. Crust

yacflott Wl tslRetl us o

A olaL gatel 53 B B. Nec 58 ®

C. uictdls eolel 58 ® D oa Qusl 58 ®
The high waves generated due to earthquake under sea are called
A. Cyclone B. Earthquake

C. Tsunami D. Cloud Burst
g3l2auloll ER Ll ¢SUsll SR8 Geua Ucll GAUL ot o 9 sdcllA?
A LS B qsu

C. yottrll D qem sleq

The ozone layer depletion is mainly due to

A. Carbon B. CFC gases

C. Green house D. Chlorine
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A glolat B. sl any
C. oflet 6lGU D sadlat

The earthquake with Richter scale value more than 7 is

A. Major B. Light

C. Medium D. Ordinary
AseR WAt BUR W YUl aR uis ealadl osu 3l ssalal.
A AR B. sadl

C. yran Do e
These are earthquake waves

A. X wave B. S Wave

C. Gama Waves D. Beta Waves
AL o Uoll AR B

A g g B. Ay aq

C. Huwaag D. oflet aa
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